

פתרון תרגיל בית מספר 3

אנליזה 2 תשע"ט

$$1. \int \frac{x e^x}{\underbrace{V} \cdot \underbrace{U}} dx = x e^x - \int 1 \cdot e^x dx = x e^x - e^x + c$$

$$2. \int \frac{x^4 \ln x}{\underbrace{V} \cdot \underbrace{U}} dx = \ln x \cdot \frac{x^5}{5} - \int \frac{1}{x} \cdot \frac{x^5}{5} dx = \ln x \cdot \frac{x^5}{5} - \frac{1}{5} \int x^4 dx = \ln x \cdot \frac{x^5}{5} - \frac{1}{5} \cdot \frac{x^5}{5} + c =$$

$$\frac{x^5}{5} \left[\ln x + \frac{1}{5} \right] + c$$

$$3. \int \frac{x \sin x}{\underbrace{V} \cdot \underbrace{U}} dx = x(-\cos x) - \int 1(-\cos x) dx = -x \cos x + \int \cos x dx =$$

$$4. \int \cos(\ln x) dx = \left[\begin{array}{l} \ln x = t \\ \frac{1}{x} dx = dt \\ dx = x dt \end{array} \right] = \int \cos t x dt = [x = e^t] = \int \underbrace{\cos t}_{\underbrace{V}} \cdot \underbrace{e^t}_{\underbrace{U}} dt =$$

$$\int \underbrace{\sin t}_{\underbrace{V}} \cdot \underbrace{e^t}_{\underbrace{U}} dt = \sin t \cdot e^t - (-\cos t) e^t + \int (-\cos t) \cdot e^t dt =$$

$$\sin t \cdot e^t + \cos t e^t - \int \underbrace{\cos t \cdot e^t}_{I} dt$$

$$I = \sin t \cdot e^t + \cos t e^t - I$$

$$2I = \sin t \cdot e^t + \cos t e^t$$

$$I = \frac{1}{2} (\sin t \cdot e^t + \cos t e^t) + c$$

$$5. \int \frac{e^{2x} \sin 4x}{\underbrace{U} \cdot \underbrace{V}} dx = e^{2x} \cdot \left(-\frac{1}{4} \cos 4x \right) - \int 2e^{2x} \cdot \left(-\frac{1}{4} \cos 4x \right) dx =$$

$$-\frac{1}{4} e^{2x} \cdot \cos 4x + \frac{1}{2} \int \frac{e^{2x} \cos 4x}{\underbrace{U} \cdot \underbrace{V}} dx =$$

$$-\frac{1}{4} e^{2x} \cdot \cos 4x + \frac{1}{2} \left[\frac{1}{4} e^{2x} \sin 4x - \frac{1}{2} \int e^{2x} \sin 4x dx \right] =$$

$$-\frac{1}{4} e^{2x} \cdot \cos 4x + \frac{1}{8} e^{2x} \sin 4x - \frac{1}{4} \int \frac{e^{2x} \sin 4x}{\underbrace{U} \cdot \underbrace{V}} dx = \int \frac{e^{2x} \sin 4x}{\underbrace{U} \cdot \underbrace{V}} dx$$

$$I = -\frac{1}{4} e^{2x} \cdot \cos 4x + \frac{1}{8} e^{2x} \sin 4x - \frac{1}{4} I$$

$$\frac{5}{4} I = -\frac{1}{4} e^{2x} \cdot \cos 4x + \frac{1}{8} e^{2x} \sin 4x$$

$$I = -\frac{1}{5} e^{2x} \cdot \cos 4x + \frac{1}{10} e^{2x} \sin 4x + c = \frac{1}{5} e^{2x} \left(-\cos 4x + \frac{1}{2} \sin 4x \right) + c$$

$$\int \frac{1}{x^2-1} dx = \int \frac{1}{(x+1)(x-1)} dx \quad (k)$$

$$\frac{1}{(x+1)(x-1)} = \frac{A}{x+1} + \frac{B}{x-1} = \frac{A(x-1)+B(x+1)}{(x+1)(x-1)}$$

$$1 = x(A+B) + B - A \quad \text{Differenzieren alle}$$

$$\Rightarrow \left. \begin{array}{l} A+B=0 \\ B-A=1 \end{array} \right\} \Rightarrow \begin{array}{l} B=\frac{1}{2} \\ A=-\frac{1}{2} \end{array}$$

$$\int \frac{1}{x^2-1} dx = \int \frac{-\frac{1}{2}}{x+1} + \frac{\frac{1}{2}}{x-1} dx = \frac{1}{2} \int \frac{1}{x-1} dx + \frac{1}{2} \int \frac{1}{x+1} dx$$

$$= -\frac{1}{2} \ln|x+1| + \frac{1}{2} \ln|x-1| + C$$

$$\textcircled{A} \int \frac{x}{x^2-4} dx = \frac{1}{2} \int \frac{2x}{x^2-4} dx = \frac{1}{2} \ln|x^2-4| + C$$

$$\textcircled{B} \int \frac{1}{x^2+4} dx = \int \frac{1}{x^2+2^2} dx = \frac{1}{2} \arctan\left(\frac{x}{2}\right) + C$$

$$\textcircled{2} \int \frac{4}{x-1} dx = 4 \int \frac{1}{x-1} dx = 4 \ln|x-1| + C$$

$$\begin{aligned} \textcircled{1} \int \frac{3x+2}{x-1} dx &= \int \frac{3x}{x-1} dx + \int \frac{2}{x-1} dx \\ &= \int \frac{3x-3+3}{x-1} dx + \int \frac{2}{x-1} dx \\ &= \int 3 + \frac{3}{x-1} dx + \int \frac{2}{x-1} dx = 3x + 3 \ln|x-1| \\ &\quad + 2 \ln|x-1| + C \end{aligned}$$

$$\begin{aligned} \textcircled{5} \int \frac{2x+1}{7x+1} dx &= \int \frac{2x}{7x+1} dx + \int \frac{1}{7x+1} dx \\ &= \frac{2}{7} \int \frac{7x}{7x+1} dx + \frac{1}{7} \int \frac{7}{7x+1} dx = \\ &\quad \frac{2}{7} \int \frac{7x+1-1}{7x+1} dx + \frac{1}{7} \int \frac{7}{7x+1} dx = \\ &\quad \int \frac{7x}{7x+1} dx = \int \frac{7x+1-1}{7x+1} dx = \int 1 - \frac{1}{7x+1} dx \\ &= x - \frac{1}{7} \ln|7x+1| \end{aligned}$$

\(\int \frac{1}{x} dx = \ln|x| + C\)

$$\begin{aligned}\int \frac{2x+1}{7x+1} &= \frac{2}{7} \left(x - \frac{1}{7} \ln|7x+1| \right) + \frac{1}{7} \ln|7x+1| + C \\ &= \frac{2}{7}x - \frac{2}{49} \ln|7x+1| + \frac{1}{7} \ln|7x+1| + C \\ &= \frac{2}{7}x + \frac{5}{49} \ln|7x+1| + C\end{aligned}$$

- 2 -

$$\begin{aligned}\textcircled{D} \int \frac{x+1}{x^2+3x+2} dx &= \int \frac{x+1}{\cancel{(x+1)}(x+2)} dx = \int \frac{1}{x+2} dx \\ &= \ln|x+2| + C\end{aligned}$$
